128 D=2 « 577005 A
B W 7K 7N g
1
ae A1 R Better
Fl Dle4)) Solution
, GD
Fi& -2 U 25t
4 5 6 7 8
ae | AT R Better _ _ _ A4 Better
=T 5 — Solution A4 RAJ=D A4 AJ=D 274 RJ—=D 5 Solution
Fig|  WEMEEOLERS | ©ILIIRT+1—ACBT 7oMIS5 A PH—3VSST P
11 12 13 14 15
| AT R Better _ s (— = _ A1 R Better
e =) 59— Solution A4 RDJ—=0 EH[CTDOU\TES A4 XD—=D F—7 Solution
T WEMEBZEONERE | I IIRT+—ACBT AL PH—33USST GD
==Fe S JOE-Y3YV -EXEBRXE-
18 19 20 21 22
ae | AT R Better _ _ _ A4 Better
41 5 —r Solution A4 RAJ7=D A4 AJ=D A4 RI7=D /7 Solution
F&| IBUEEOMNEHE CIVDIDIRFT 1 —ALCBT TDOMI3 A PH—33USST D —DORES
25 26 27 28 29
| AT R Better - -
=] 5 —2 Solution A4 RA0=D A4 AJ=D
F&| BRRICKDRFUZAxiN LIV IDIRT 1+ —ACBT TODIS A

XA & I FRPEIRNYYD « UD=DEPREINYR « UD=DICHNTOTOTSAICZDET

GD:

IIWN—TFT«ANhvIy3ay




